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At 20° C Trichloroethene (TCE) drips from a tank truck onto a flat, impermeable
parking lot at a rate of 3 liter every 7 minutes. The molecular weight and vapor
pressure of TCE are 131 and 0.08 atm, respectively. The gas exchange coefficient is

given by the following formula:
ka (cm/hr) =1100 * u (m/sec)

where, ka = gas exchange coefficient ka (in cm/hr)
u = wind velocity (m/sec)

3. If the wind speed at 10 m elevation is 1.5 m/sec, the gas exchange coefficient [4]
ka (in cm/sec) is most nearly: ,
Vo= HOO w
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4. Given R =0.082 oK’ the flux of TCE (in gm/cm”-sec) from the puddle  [4]
molie

to air is most nearly:
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